Mg G

%FBFED | 1 | 2 | 3 | 4 | mm |80
1 [z 229 1-6|2—-6|6-5|1—2|.346 | 4
2 RR 25° |6-1 6—1|6—1|3-0 1
3 22 25 6—2|1-6 3—6|1—2|.417| 3
4 |23 25 5—6|1—-6|6-3 1—2 | 444 | 2
X2 ~4ANET — LEEBRCKSD

XFBFE@ | 1 | 2 | 3 | 4 |mm | PEC| Em
1 =2 52, 6—3|5—-6|6—-0]2—1 2
2 20 22 3-6 >—6|6—2|1-02 3
3 BF 228 |e-s5|6-2 6—1]3-0 1
4 78 BB lo-6|2-6|1-6 0—3 4
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m%;’jf 4 1 2 | 3 | 4 | 5 | 6 |mmM| 35 | MEf
1 %g E%% 4—6|4—6|6—-5|6—3|4—6|2—3 4
2 é%gigﬁg 6—4 6—5|6-—2|6—2|1—6]4—1 >
3 E% %%% 6—4|5—6 6—3|6—2|2—6|3—1 3
4 %ﬁ %E% 5—6|2-6|3-6 6—4|3-6|1—4 5
5 %? %ﬁ 3—6|2—6|2—6|4—6 2—6]0—5 6
6 gﬁ E% 6—4|6—1]6—2|6—3|6—2 5—0 1




EFBFED | 1 | 2 | 3 | 4 | 5 | mey|TEC | Em
1 B8 X 3-5|3-5|3-5|56—1]1-3 4
2 O 2L 5— 3 0-6|2-6|6—2]2-2 3
3 o= £C 5—3|6-0 4-6|6—1]3—1 2
4 |75 R 5—-3|5—2|5—4 5—2 | 4—0 1
5 B0, ®ue |1-5|2-5|1-5|2-5 0—4 5
EFBFE@ | 1 | 2 | 3 | 4 | 5 |pme|TEC) Em
1 |22R, B 5—2|6—1]6-3|6-0|4—0 1
2 @ 1% > 5 1-5|3-56|5-0|1-3 4
3 5 I 15|51 5-1|65-0|3—1 2
4 |25 B 3-56|6—-3|1-5 5—0|2—2 3
5 [Z =% 0—-5|0-56|0-6|0—5 0—4 5




EFBFE® | 1 | 2 | 3 | 4 | 5 | mm|%EC [ jmm
1 285" »—65|0-6|2-6|1-6|0—4 5
2 3% 28 5—2 0-5|4—6[1—-5|1-3 4
3 | B 5—0|5—0 5—1|3-56]3—1 2
4 |52 L 5—2|6—4|1—5 4—5|2—2 3
5 (1o B 5—1|6—1|6-3|6—4 4-0 1
EFBFE® | 1 | 2 | 3 | 4 | 5 | mey|TEC | Em
1|8 BB 5-0|5-3|5-1|4-5|3—" 2
2 27 &° 0—5 >—5|6—4|1-5|1-3 4
3 28 5- 3-5|6—2 5—1|3-5|2-2 3
4 5% 22 1-6|4—5|1-5 0—56|0—4 5
5 B2 £¥ 5—4|6—1|6-3|6-0 4-0 1
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2 (2t BXE  o-5 0-5|2-5|0-5|0-4 5
3 |TX k< 5—4|5-0 4-5|3-5]2-2 4
4 == EY »—5|65—2|6—4 5—43—1 2
5 L0 o 3-5|6-0|6-3|4—5 22 3
X1 ~2MUR0O3~4NIBIEINRDIBRICKD

EFCFED | 1 | 2 | 3 | 4 |mm | TEC| Em
(e 6—0|1—6|6—2|2—1 2

2 TR 2 0—6 0o—6|2-6|0-3 4

3 BB B 6—1]6-0 6—4|3-0 1

4 |57 Z2 >—6|6-2|4—06 1-2 3
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